Ax=48F22st 5 A (1, 1), (-1, -15)F A=
9] 427

oo N

D y=x>4+6x-6 @ y=x>+8x-8

@ y=-x>+6x-4

@yz—x2+8x—6

@ y=-x>+6x-8

~&B

y=p(x-4) +q 22 5,

(1, 1), (-1, -15) & AYE=R o] St 9p+¢ = 1,25p+
gq=-15°0|B2 o] EEH p=-1, ¢=10

y=-(x-42+10=-x2+8x—6




y=2(x-1)2+3 9 IHnL x=1 4 of X&Fko] 3 ot




oju
A,

y=x>-6x+2 29

® 1

@ 7

@ -9

O -11

N
S
=
Nel
|
o~
=
|
=

]
K
ol
I~

&K
Ty

[xe]
I g




4.

OIRFE S y = ~22 + dx — 1] AT} F4

1, %3k
1, A%
&4, A%

9t gk, A5 -
29

™
2

© ® 0 © 9
i) i)
R HE

e

e by

B

slet
-5
siet

o, FHsgh -

A2?

y=-2x>+4x-1
=-2(x-1)2+1
x=12d, HAAF 1S 7
E, 22 o] A4 S5

et
EEE

A~




ool

_ 1 - e
AR y = S~ ek ©) R oA y = —2 +4x-2k-+2

o] Zgigho] A& ), k o] = F-5hei =t

>

> g 4

iy

B ~

1 1
y:§x2—4x+k:§(x—4)2—8—|—k

HEg2 -8 +k
y=-2x*+4x-2k+2
=-2(x-1)2+4-2k
F|Hgh2 4 -2k

84+ k=4-2k
k=4




+10

@ y=-2(x-1)2

@y

D y=-4x>+1

22 4+3x+1

@)y =x*4+3x+1

®y

—(x+1)?

Al

ol

(i
o




— o
I_I

TN

i I

l__l o

= = o)
o < I I
o}/ [ RK
S =~ o~ o
Al @ (& &
N ()
& :

=3

m_m =
N <t
% o+ g
il Fo <
Njo - 3 S N/T
<+ +
TR a0 kT
—_ N — MmN
X
= T TR
oo SN
r o e e




)
.

e

@ y=-x*+2x+1

@)y

D y=-3x2

®y

(x+1)2+3

-2(x-1)2




y=a(x-2)?+3 ° (5,-6) = Y5t
-6 =a(5-2)%+3

9a=-9 ..a=-1

y=-(x-2%*+3

x=0¢ddy=-1

. (0, = 1)




A 2m7t (1, 5) o1, A (0, 3) = A= EE
Satolet,

O y=2x>-4x+3 @ y=x*>+4x+3
@ y=2x>-2x+3 @y:—2x2+4x+3

y=-2x>+4x+3




SO A0l x=-1°]2 F A (-1, 6), (1, 2) & A= ZEA]
Aey=ax’ +bx+c o E= YePd o, abe °] 32 F5HH?

@5 @7 @10 @ 12 ® 15

A (-1, 6)T A (L 2)2 A==
6=q, 2=4a+¢q
La=-1,qg=6
Ly=-(x+1)%+6
Tt y = -x® - 2x +5
La=-1,b=-2,¢c=5

coabe =10




12. o2& 282 oA y = 322 + bx + ¢ 9] e zolTt. o] o, b, ¢ 9]

yll

y=31*+bx+c

\_J

0 2\/4 T

v v v Y
ox
1L | L {1
Al
Il
|
L
oo

02
L
o
I
[N}
=~




13.

o] 18 91 F 7t et & 5 x B FH YA
(18 — x) ©Jt}.

y=x(18 —x) = —x? + 18x = —(x* — 18x + 81) + 81
y=—-(x-9)2+81

webA 7 0] 50 HTghS 81 0]t

s
<
rir




14. oAy = 9x% — 12ax + 3a% + da - 4 9] F5=3ko] -16 &

@ 1 @ 2 ® 3 @4 ® 5

o, a ©]

y =9x% — 12ax + 3a® + 4a - 4
=Bx-2a)?-a*+4a-4

&2 —a® + da—-4=-16 o[t}

a’>-4a-12=0

(a+2)(a—6)=0

La=-2XF=a=6

2bA o o] §E9] A2 -2 46 = 4°]H.




\4
L

it

vV VvV V
0
i
S

0
L
2o

T-stef 2t

T FE A% x, x+ 42 5P
y=x>+(x+4)
=2x> +8x+ 16
=2(x+2)%+38

= 29, Aggts  ZEw
Lx==-2,x+4=2
webd Fote T HE -2, 2




16.

7'2, M29] Aol 242t 12cm, 14cm 1 2
AZFg el 7k29] ZAol= xem THE EO]L, Al
29 4ol xem ¥HE £ o, 8- AARE
P o] Wol& yem? 2ol oFH y 7} 7} =7
She x o] g2 Tofoler,

=1 cm

3
> FE:

lcm

,,—12cm\\$cm

\Lrem

~&B

y = (12 + x)(14 - x)
= —x2 + 2x + 168
=—(x2-2x+1-1)+168
= —(x=1)2+ 169

x=19%Lu,yo] HFAZ 169 & Zt=ct.




17.

AHO 2 HE & 40m & FHbE 9= Xof S 49 x = §°
=05 ym 2kl 5P y = —5x% 4 40x 2] TAZF -} o] Exﬂﬂ-
F|3l zolof =g w7k A AJZE} 11w o] ol & 5tei et

vV V v V¥V
0
m ol ol
=
[
(=Y

0
AL
®
S
B

y = —5x* 4+ 40x oA y = -5(x — 4)% 4 80 °|T}.
et x =4 4 o, y = A 80 = %E}




18.

Ao Al 245 50m o] HH o= Kop gd Fo|r =
(507 = 5%)m o]t} o] Fo Fo|7F AFerRH H7} 5

Kot 97 R 2 FAI?

ﬂ
b
o
©
0]
b
o

=

i
s
.

o]

A

y = 50t — 5¢2
y = —5(* =10t + 25 — 25) = —5(t — 5)? + 125
kA 5 2 Fof] Il =o] 125m 7} At

LSS
L

©
L



